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FE]

(lot)

1,000,000 @ x 2% = 20,000M = 980,000M
980,000 x 2% = 19,600 = 960,400 M
960,400 x 2% = 19,208 = 941,192 M
941,192 x 2% = 18,823 = 922,369H
922,369 x 2% = 18,447H = 903,922 M
mEE(Ix L T—52MELY

1,000,000 x 5% = 50,000 = 950,000
950,000 x 5% = 47,500 = 902,500HM
902,500 x 5% = 45,125 = 857,375 H
857,375 M x 5% = 42,868 = 814,507 H
814,507M x 5% = 40,725 = 773,781 H
mRo avHAoUy

HAELE - BUIYIE (pips) = ITHWEIE
- 100pips MELYIY 1F

20,000 + 1M (100pips) = 2 FEE
50,000 + 1M (100pips) = 5 AAE

* 50pips DEYIYIF

20,000 = 0.5M (50pips) = 4 A@E
50,000 + 0.5M (50pips) = 10 A@E

+ 20pips DEYIY I

20,000 + 0.2M (20pips) = 10 F@E
50,000 @ + 0.2 (20pips) = 25F@E



* 10pips DEYIYIE

20 AEE
50 FEE

20,000 =+ 0.1 M (10pips)
50,000 = 0.1H (10pips)

M100 FDEELTITTAEEIE

A2 KA 133.530 AR

-1 AREIT Y M) —LEROENE, GEEHERE? ?

133.530 M x 10,000 GAE#®) = 1,335,300FH 720DHEE]
1,335,300 x 4% = 53,412 M (Gf#L%)
1,000,000 (&%) — 53,412 GEL€) = 946,588 (BRYESR)

(GEHLE#FER 9 1,8729)
1 FEETHrL—F = 1H#HE+L FAE
1,000,000 HDEELT

ML #EIEE 1005 F TEIAMM&IE = 38.87 M (94.66 ADZTE)
1,000,000 (B®) — 946,600 M (994 HOZE) =53,400H (RYER)

53,412 A (GE#LL) o 53,400 (BYES) HLES#HER 1003
53,412 A (GEE) o 26,700 @ (BYES) ISR 02
MEIIMEHEER = FAMMNES-BHETFNEx1008

133.530 @ IV kY —BED@E
38.87 M EEMLEHMEFEFE 10031273 B f4&

94 HHLEF L=/
RERASSGENERIY S5 HA[EEMEEL



- 3ABEI VM) —LEROENE, GENEHEERE? 2

133.530 @ x 30,000 GBE%®) = 4,005,900 @ %DEE]
4,005,900 @ x 4% = 160,236 A (GEL%)

1,000,000 (B®) — 160,236 1 (GEl&) =839,764 M (RYES)
(GELEHEFEER  $96242)

3ABETIFL—F = 1HA#HLE+3 AHE

1,000,000 HDELT
SEMLE R 10052 TERIAMEKIE = 105.537F (27.99 ADZE))

1,000,000 (B#®) — 839,700 (27.99 HOZEF) =160,300H (ERYES)

160,236 A (GE#L®) © 160,300 (BYUES) IHES#EE 100s
160,236 A (GI#l£) © 80,150 (RYES) IIHLEH#IEFE 0
MEIINEHEE > BAMENES-BETFNE<1008

133.530 @ T bY)—BEO{@E

105.537 F  EEMLEHMEIFER 100227 S l4E

28 AEEEILI-5V/\A

-5 AREI Y M) —LEROGENE, GEEHERE? ?

133.530 M x 50,000 (BE®) = 6,676,500 @ 2DEEI
6,676,500 x 4% = 267,060 A (GE#L%)

1,000,000 (B®€) — 267,060 (GFl&) =732,940M (RYES)
(GEMLEH#EFER £ 3742)

5 ABETErL—F = 1H#:<K E+5 AHE



1,000,000 HDEET
ISR 10022 FEAMIEIE = 118.871 H (14.65 HOZEEY)

1,000,000 (&&) — 732,500M (14.65 HDZEE) =267,500 H (KRYER)

267,060 A GEflsE) < 267,500 A (GRYHAS) FEHEHEE 1003
267,060 A GEflsE) < 133,530 (RYEAS) EHREHRER 0%
MAHMEHEE > HMINE - BETMS<100%

133.530 @ IV kY —FEOM@E
118.871 F FEMLEHMIFER 100227 S l4&

14 AZEEL =5/ 0
1 hATHSAEEHY

=10 FBEITY M) — L-FROGENE, SHLESHEFRIE? 2

133.530H x 100,000 @E%) = 13,353,000F 4 0HSEI
13,353,000 x 4% = 534,120 @ (GF#%)

1,000,000 (B%) — 534,120 A (GE%EL) =465,880MH (RYES)
(GEMLE#EFEZE  £9 1879)

10 ABETIrL—F = 1H#ELE+10 FA

1,000,000 HDEELT
SIS HMIER 10052 TEAMIEIE = 128.871 M (4.66 HDZEE))

1,000,000 (B®€) — 465,900 (4.66 ADZEH) =534,100 A (FRYES)

534,120 M GEL£) © 534,100 A (BRYES) FEE#HIEE 1003
534,120 A GEL€) © 267,060 A (FEYESE) IHE#IEER 02



SGHISHEE > AWIENE: BETNE <1002

133.530 @ T kY —BED@E
128.871 F FIHLEHIFE 1002127 54

4.66 AZEHLI-5V/L
1~2 BRELINTEN K ATREE H Y

1 AEETIVRF)— = A HOZEHIIHZAONS
3IABEIVR)— = 28 HOEFHICHAONDS
S5 ABETIVRN)— = 14HOEHIZIMZOND

10FBETIVM)— = 4.66HDTHFHIZHZ OGNS



